
④  2兆4000億を　　にした数 ( )

③  560億を　　にした数 ( )

②  4兆を　　にした数 ( )

2  次の数を書きましょう。

①  70億を　　にした数 ( )

②  761兆－434兆 = ④  6208億－4524億 = 

日にち：　　月　　日

名まえ

1  次の計算をしましょう。

①  628億＋115億 = ③  15兆＋89兆 = 

⑬ 仕上げ

13

10

1

10

1

10

1

10

1



3 4

3

1

4

7

7

4

56

2 4

④  2兆4000億を　　にした数 ( 2400億 )

③  560億を　　にした数 ( 56億 )

②  4兆を　　にした数 ( 4000億 )

①  70億を　　にした数 ( 7億 )

2  次の数を書きましょう。

3 2 兆 1327 1684 6 8

5 2 4 億

4 億

8 億761 6208

－ 4 3 兆 － 4434 4524

743 104

②  761兆－434兆 = ④  6208億－4524億 = 

7 6 兆 6 2 0

7 4 億 1 0 4 兆
＋ 8 9 兆115 895

628 15

＋ 1 1 億

86 2 億 1 5 兆

日にち：　　月　　日

名まえ

1  次の計算をしましょう。

①  628億＋115億 = ③  15兆＋89兆 = 

⑬ 仕上げ 答え
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1 105

13

743億 104兆

327兆 1684億
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